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— 1) Let Xy,..., X,, be iid random variables from a normal distribution with mean 6 and e 38
( ep > (}'

.. variance also 6 where 6 > 0.
{¢) a) Find a minimal sufﬁcient statistic for 6.
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2,°b) Show (X, 5%) is not complete for 6.
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et WA 2) Let X, ..., X,, be iid gamma(v, \) random variables and Y1, ..., Yy, iid gamma(y, 2) oa7
., random varlables Assume that the ¥;’s and X’s are independent. Show that the statistic
(X,Y) is not a complete sufficient statistic. Cox-N)= 2 i @ Rl
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3) Let Y3, ..., Y, be iid random variables from a distribution with pdf S AT TS
| W= s
where 6 > 0 and y is real. Then W = log(1+ |Y|) has pdf f(w) = e’ for w > 0. Find
a complete sufficient statistic for §. —— W{/;\:/ il
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